
If you have damaged or missing components 
please contact customer service. 

Form# 179954 800-328-1061 02/2013 

 
 

 

 
  

(Model # 26550, 26551) 



If you have damaged or missing components 
please contact customer service. 

Form# 179954 800-328-1061 02/2013 

Hardware and Components 
 
 

 
Replacement Hardware Pack 69755 Includes: 
 (16) 77471- 1/4-20X1/2” Combo Machine Screw 
 (8) 70226- Machine Screw 10-32X.5 
 (2) 77482- Tinnerman Clip 
 (16) 70054- SM Screw #10X.75 Hi/Lo Pth  

#10 Wood Screws 
(Qty. 18) 

P/N-70054 

10-32X1/2” Machine Screws 
(Qty. 8) 

P/N-70226 

¼-20X1/2” Machine Screws 
(Qty. 8) 

P/N-77471 

3/8” – Dog Nut Screw 
(Qty. 2) 

P/N-77741 

Allen Wrench 
(Qty. 1) 

P/N-77813 

Tinnerman Clip 
(Qty. 1) 

P/N-77482 

½” Nut 
(Qty. 2) Acrobat Leg w/ Bracket 

(Qty. 2) 
P/N- 26656 

Acrobat Modesty Panel 
(Qty. 2) 

Crescent Table Top 
(Qty. 1) 



If you have damaged or missing components 
please contact customer service. 

Form# 179954 800-328-1061 02/2013 

 
 
Step 1: On a clean flat surface, flip the top upside down so that the pre-drilled holes are visible. As 
shown in figure 1, attach the two modesty panels to the center leg using the large 1/4-20 machine 
screws (2 per panel). Do not tighten completely. 

 
 
 
 
 
 



If you have damaged or missing components 
please contact customer service. 

Form# 179954 800-328-1061 02/2013 

Step 2: Adjust the left and the right leg to the desired height by removing the 4 machine screws in each 
leg and re-attach them securely (figure 2A). if a high range is required, install the Tinnerman Clips into 
the square openings (one per leg). As shown in figures 2&2B, attach the two legs to the modesty panels 
using the large 1/4-20 machine screws. Do not tighten completely. 

 
 

Step 3: With the legs and the panels assembled loosely, align them with the pre-drilled holes and attach 
them to the top with the supplied wood screws. Now tighten the machine screws between the legs and 
the panels. 

 
Step 4: Adjust the height of the center leg by loosening the two allen drive screws using the supplied hex 
key and the ½” nuts. Pull upward on the lower leg section to the desired height and re-tighten the 
hardware. 

 


